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(Normal Distribution)

(Gaussian Distribution).




(Standard Normal Distribution)
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P(u-lo<x<u+lo)=P.(t|<1)
=2x0.34134 = 0.68268

P(u-20<x<u+20)= Pr(‘t‘SZ)
=2x0.47725=0.95450

P(u-3c<x<u+3o)= Pr(‘t‘ <3)
=2x0.49865 =0.99/30
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95% : u=+1.960

99& : u=x258c
95% i
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x-1.960. < u<x+1.960. (
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65.37
64, 66, 67, 68, 70

70 ?
;:64+66+67+68+7O:67 ( 2.23)
5
0. 2.23
u=065.37
X—p| _|67-65.37 Lol
o, 2.23 |
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32.40mg, 0.20.

OPoe ™ Y9570

X =32.40,s=0.20.n = 25
0.20

95% 32.40+£1.96—=32.40+0.08
(95% ) =
32.48mg 32.32mg
0.20

(99% ) 32.40+1.96— =32.40+0.08
\ 25

32.48mg 32.32mg

25
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=32.37% Mn
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X = 32.37
5 =01S

=2 . ‘3237-3216

S /vn 0.15/+/20

Mn
=32.16%

=0.15%, 5%

=6.27 ) t,,, =1.96
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95%

Al
10.02%, o = 0.5%
10.12%, o= 0.4%

15

25

2 2
O— O— 2 2
G__:\/0_2+G_2 :\/ T :\/(0.40) +(0.50)

=0.144
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—z % H
"““h.,,: P e e m——
Hh""- “. 1 DI uﬁ u- nz ﬂr 'ﬂl “lll ml
HEY ™
1 6. 314 12. 706 21. 521 63, 657 636, 619
2 2.920 4. 303 b, 6895 9. 925 31. h98R
3 2. 353 3. 182 4. 541 5. 841 12.941
4 z. 132 B 140 J. 747 1, H04 g.610
B2 2. 01% 2. 57l d. 365 4, 132 6. 559




5) A,B
A 120.20% B : 20.00%
95%

¥ 20.20;20.00 _50.10

S \/% {(20.20-20.10)? +(20.00—20.10)? } = 0.10

v = e (05 o
LS, V(@2 71)(0.10) | o
N ] '

20 {007 &, (20100 27
20.10 +1.27%
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(unbiased estimate)
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6) Ti-
7.97,7.92,7.93, 7.94%
7.96,7.94,7.98,7.92,7.95%
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x=7.95
y=7.94

n

3" (x — x| =0.0020 S (y, -

= k-1



Al

. \/0.0020+o.0014 e
5+4-2
= = 0 1—I—1 —1.48x10°°
x-y 5 4

~0.68 ( t,,, =3.499

x—y| [7.95-7.94
1.48x107
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Cochran
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Al(OH)3 Al- 3.56, 3.58, 3.51, 3.55%
8-hydroxyquinoline
3.50, 3.53, 3.56, 3.52, 3.54%
5%

D x=7.95
y=7.94

' (x —xf =00026  3(y,~yf =0.0020

=1 =1



~0.0026

V. ~ 0.00087
v, = 22999 _ 4 00050
e W e 1 e

~ 0.00050



~, 0.0026 +0.0020

o= = (2.56x107%)"
3+4
O.-=0 . + . =2.56x10"" i+1 =1.72x10 ¢
4 [ 1 4 5
‘ —Y‘ 3.55-3.53
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(2) S

” (Xi _;)2

g —1/d=
; \ e i
s, =8.67x10"
5 =5 OEID™



(n,-1)s,” +(n, -1)s,°

g
n+n,—2
_ (4-1)(8.67x107*)+ (5-1)(5.0x10™)
4+5-2

— 6.57 x10™* = (2,66 x10%)*

&i_y =&\/ : + : = 2.56x10 i+E =1.72x107
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T 8'67X1O_4 =1.73( F2(0.05) = 6.59
5.0x10
x—vy| [3.55-3.53
E =1.16 { t,,,, =3.499
o ‘l.72><102 oo




